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Part - III

Pou® / MATHEMATICS

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Versions)

÷|µ® : 2½ ©o ] [ ö©õzu ©v¨ö£sPÒ : 100
Time Allowed : 2½ Hours ] [Maximum Marks : 100

AÔÄøµ : (1) AøÚzx ÂÚõUPÐ® \›¯õP Aa_¨ £vÁõQ EÒÍuõ Gß£uøÚ
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß AøÓU
PsPõo¨£õÍ›h® EhÚi¯õP öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS®
AiU÷PõikÁuØS® £¯ß£kzu ÷Ásk®.  £h[PÒ ÁøµÁuØS
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

SÔ¨¦ : CÆÂÚõzuõÒ |õßS ¤›ÄPøÍU öPõshx.

Note : This question paper contains four sections.

£vÄ Gs
Register Number

[ v¸¨¦P / Turn over

¤›Ä & I/SECTION - I

(©v¨ö£sPÒ : 15)/(Marks : 15)

SÔ¨¦ : (i) C¨¤›ÂÀ EÒÍ 15 ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 15x1=15

(ii) öPõkUP¨£mkÒÍ |õßS ©õØÖ ÂøhPÎÀ ªPÄ® \›¯õÚ
Âøhø¯z ÷uº¢öukzx SÔ±mkhß Âøh°øÚ²® ÷\ºzx
GÊuÄ®.

Note : (i) Answer all the 15 questions.

(ii) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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1.  f (x)=x2+5 GÛÀ,  f (−4)=

(A) 26 (B) 21 (C) 20 (D) −20

If f (x)=x2+5, then f (−4)=

(a) 26 (b) 21 (c) 20 (d) −20

2. J¸ Tmkz öuõhº Á›ø\°ß Akzukzu ‰ßÖ EÖ¨¦PÒ k+2, 4k−6, 3k−2

GÛÀ, k &ß ©v¨¦ :

(A) 2 (B) 3 (C) 4 (D) 5

If k+2, 4k−6, 3k−2 are the three consecutive terms of an A.P., then the value of k is :

(a) 2 (b) 3 (c) 4 (d) 5

3. J¸ ö£¸USz öuõhºÁ›ø\°ß •uÀ |õßS EÖ¨¦PÎß ö£¸UPØ£»ß
256, Auß ö£õx ÂQu® 4 ©ØÖ® Auß •uÀ EÖ¨¦ ªøP Gs GÛÀ,
A¢u¨ ö£¸USz öuõhº Á›ø\°ß 3 Áx EÖ¨¦ :

(A) 8 (B)
1

16
(C)

1

32
(D) 16

If the product of the first four consecutive terms of a G.P. is 256 and if the common
ratio is 4 and the first term is positive, then its 3rd term is :

(a) 8 (b)
1

16
(c)

1

32
(d) 16

4. x2−2x+7 Gß£øu x+4 BÀ ÁSUS® ÷£õx QøhUS® «v :

(A) 28 (B) 29 (C) 30 (D) 31

The remainder when x2−2x+7 is divided by x+4 is :

(a) 28 (b) 29 (c) 30 (d) 31

5. x2−bx+c=0 ©ØÖ® x2+bx−a=0 BQ¯ \©ß£õkPÎß ö£õxÁõÚ ‰»® :

(A)
c  a

2b

+

(B)
c  a

2b

−

(C)
c  b

2a

+

(D)
a  b

2c

+

The common root of the equations x2−bx+c=0 and x2+bx−a=0 is :

(a)
c  a

2b

+

(b)
c  a

2b

−

(c)
c  b

2a

+

(d)
a  b

2c

+
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6.
7 2

A  
1 3

 
 
 
=  ©ØÖ® 

1 0
A  B  

2 4

 
 
 

−

+ =
−

 GÛÀ, Ao B=

(A)
1 0

0 1

 
 
 

(B)
6 2

3 1

 
 
 −

(C)
8 2

1 7

 
 
 

− −

−
(D)

8 2

1 7

 
 
 −

If 
7 2

A  
1 3

 
 
 
=  and 

1 0
A  B  

2 4

 
 
 

−

+ =
−

, then the matrix B=

(a)
1 0

0 1

 
 
 

(b)
6 2

3 1

 
 
 −

(c)
8 2

1 7

 
 
 

− −

−

(d)
8 2

1 7

 
 
 −

7. (−2, 6), (4, 8) BQ¯ ¦ÒÎPøÍ CønUS® ÷|º÷PõmiØSa ö\[SzuõÚ
÷|ºU÷Põmiß \õ´Ä :

(A)
1

3
(B) 3 (C) −3 (D)

1

3
− 

Slope of the straight line which is perpendicular to the straight line joining the points
(−2, 6) and (4, 8) is equal to :

(a)
1

3
(b) 3 (c) −3 (d)

1

3
− 

8. (2, 5), (4, 6), (a, a) BQ¯ ¦ÒÎPÒ J÷µ ÷|º÷PõmiÀ Aø©QßÓÚ GÛÀ, a &ß
©v¨¦ :

(A) −8 (B) 4 (C) −4 (D) 8

If the points (2, 5), (4, 6) and (a, a) are collinear, then the value of ‘a’ is equal to :

(a) −8 (b) 4 (c) −4 (d) 8

9. C¸ ÁiöÁõzu •U÷Põn[PÎß _ØÓÍÄPÒ •øÓ÷¯ 24 ö\.«, 18 ö\.«
GßP.  •uÀ •U÷Põnzvß J¸ £UP® 8 ö\.«  GÛÀ, ©ØöÓõ¸
•U÷Põnzvß AuØS Jzu £UP® :

(A) 4 ö\.« (B) 3 ö\.« (C) 9 ö\.« (D) 6 ö\.«

The perimeters of two similar triangles are 24 cm and 18 cm respectively.  If one side of
the first triangle is 8 cm, then the corresponding side of the other triangle is :

(a) 4 cm (b) 3 cm (c) 9 cm (d) 6 cm



46823

10. ö\[÷Põn ∆ABC&À ∠B=908 ©ØÖ® BD⊥AC. BD=8 ö\.«, AD=4 ö\.« GÛÀ,
CD =

(A) 24  ö\.« (B) 16 ö\.« (C) 32 ö\.« (D) 8 ö\.«

∆ABC is a right angled triangle where ∠B=908 and BD⊥AC.  If BD=8 cm, AD=4 cm,
then CD is :

(a) 24  cm (b) 16 cm (c) 32 cm (d) 8 cm

11. £hzvÀ ∠ABC=

(A) 458 (B) 308 (C) 608 (D) 508

In the adjoining figure ∠ABC=

(a) 458 (b) 308 (c) 608 (d) 508

12. 9 tan2θ−9 sec2θ=

(A) 1 (B) 0 (C) 9 (D) −9

9 tan2θ−9 sec2θ=

(a) 1 (b) 0 (c) 9 (d) −9
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13. 100 π \.ö\.« ÁøÍ£µ¨¦ öPõsh ÷PõÍzvß Bµ® :

(A) 25 ö\.« (B) 100 ö\.« (C) 5 ö\.« (D) 10 ö\.«

If the surface area of a sphere is 100 π cm2, then its radius is equal to :

(a) 25 cm (b) 100 cm (c) 5 cm (d) 10 cm

14. ÂÁµ[PÎß öuõS¨¦ JßÔß vmhÂ»UP® 2 2 . Av¾ÒÍ JÆöÁõ¸
©v¨¦® 3 BÀ ö£¸UPU QøhUS® ¦v¯ ÂÁµz öuõS¨¤ß vmh Â»UP® :

(A) 12 (B) 4 2 (C) 6 2 (D) 9 2

Standard deviation of a collection of a data is 2 2 .  If each value is multiplied by 3,
then the standard deviation of the new data is :

(a) 12 (b) 4 2 (c) 6 2 (d) 9 2

15. 52  ^mkPÒ öPõsh J¸ ^mkUPmi¼¸¢x J¸ ^mk GkUS®÷£õx Ax
J¸ £Pøh (ace) BP CÀ»õ©¾® ©ØÖ® J¸ Cµõ\õÁõP (king) CÀ»õ©¾®
C¸¨£uØPõÚ {PÌuPÄ :

(A)
2

13
(B)

11

13
(C)

4

13
(D)

8

13

A card is drawn from a pack of 52 cards at random.  The probability of getting neither
an ace nor a king card is :

(a)
2

13
(b)

11

13
(c)

4

13
(d)

8

13
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¤›Ä - II/SECTION - II

(©v¨ö£sPÒ : 20) / (Marks : 20)

SÔ¨¦ : (i) £zx ÂÚõUPÐUS Âøh¯ÎUPÄ®. 10x2=20

(ii) ÂÚõ Gs  30 &US Psi¨£õP Âøh¯ÎUPÄ®. •uÀ
14 ÂÚõUPÎÀ C¸¢x H÷uÝ® 9 ÂÚõUPøÍz ÷uºÄ ö\´¯Ä®.

Note : (i) Answer 10 questions.

(ii) Question number 30 is compulsory.  Select any 9 questions from the first
14 questions.

16. A={1, 2, 3, 4, 5}, B={3, 4, 5, 6}, C={5, 6, 7, 8} GÛÀ,  A ∪ (B ∪ C)=(A ∪ B) ∪ C  GÚU
PõmkP.

Given, A={1, 2, 3, 4, 5}, B={3, 4, 5, 6} and C={5, 6, 7, 8}, show that
A ∪ (B ∪ C)=(A ∪ B) ∪ C.

17. R÷Ç öPõkUP¨£mh AmhÁøn BÚx, A={5, 6, 8, 10} &¼¸¢x B={19, 15, 9, 11}

&US  f (x)=2x−1 GßÓÁõÖ Aø©¢u J¸ \õº¦ GÛÀ, a ©ØÖ® b BQ¯ÁØÔß
©v¨¦PøÍU PõsP.

x 5 6 8 10

f (x ) a 11 b 19

The following table represents a function from A={5, 6, 8, 10} to B={19, 15, 9, 11}
where f (x)=2x−1.  Find the values of a and b.

x 5 6 8 10

f (x ) a 11 b 19

18.
2

7
− , m, 

7
(m  2)

2
− +  BQ¯Ú J¸ ö£¸USz öuõhº Á›ø\°À EÒÍÚ GÛÀ,

m &ß ©v¨¦PøÍU PõsP.

If 
2

7
− , m, 

7
(m  2)

2
− +  are in G.P., find the values of m.
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19. }UPÀ •øÓø¯¨ £¯ß£kzv wºUP : 13x+11y=70, 11x+13y=74.

Solve by elimination method : 13x+11y=70, 11x+13y=74.

20. _¸USP : 
2

2

6   9

3   12

x x

x x

+

−

Simplify : 
2

2

6   9

3   12

x x

x x

+

−

21. aij=2i−j  GßÓ EÖ¨¦PøÍU öPõsh, Á›ø\  2×2  EÒÍ Ao A=[aij]

&°øÚ Aø©UPÄ®.

Construct a 2×2 matrix A=[aij] whose elements are given by aij=2i−j.

22.
3 2

A  
5 1

 
 
 
=  ©ØÖ® 

8 1
B  

4 3

 
 
 

−

=   GÛÀ, C=2A+B  GßÓ Aoø¯U PõsP.

Let 
3 2

A  
5 1

 
 
 
=  and 

8 1
B  

4 3

 
 
 

−

= .  Find the matrix C, if C=2A+B.

23. (−3, 5) ©ØÖ® (4, −9) BQ¯ ¦ÒÎPøÍ CønUS® ÷Põmkz xsiøÚ
Em¦Ó©õP 1 : 6 GßÓ ÂQuzvÀ ¤›US® ¦ÒÎ°ß Aa_z öuõø»ÄPøÍU
PõsP.

Find the coordinates of the point which divides the line segment joining (−3, 5) and
(4, −9) in the ratio 1 : 6 internally.

24. " " 'a' &ß GÀ»õ ªøP ©v¨¦PÐUS®, (0, a) GßÓ ¦ÒÎPÒ  x-Aa]À
Aø©¢v¸US®'' GßÓ TØÔß ö©´zußø©ø¯ Bµõ´P.

“The points (0, a), a > 0 lie on x-axis for all a”.  Justify the truthness of the statement.

25. A, B Gß£Ú ∆PQR&ß £UP[PÒ PQ , PR&PÎß ÷©À Aø©¢u ¦ÒÎPÒ GßP.
÷©¾® AB??QR, AB = 3 ö\.«, PB = 2 ö\.« ©ØÖ® PR = 6 ö\.« GÛÀ, QR&ß
}ÍzvøÚU PõsP.

In ∆PQR, AB??QR.  If AB is 3 cm, PB is 2 cm and PR is 6 cm, then find the length of QR.
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26. J¸ ÷Põ¦µzvß Ai°¼¸¢x 30 3  « öuõø»ÂÀ {ØS® J¸ £õºøÁ¯õÍº,
AU÷Põ¦µzvß Ea]°øÚ 308 HØÓU ÷PõnzvÀ PõsQÓõº.
uøµ©mhzv¼¸¢x AÁ¸øh¯ Qøh{ø»¨ £õºøÁU ÷PõmiØS EÒÍ
yµ® 1.5 « GÛÀ, ÷Põ¦µzvß E¯µzøuU PõsP.
The angle of elevation of the top of a tower as seen by an observer is 308.  The observer

is at a distance of 30 3m from the tower.  If the eye level of the observer is 1.5 m  above

the ground level, then find the height of the tower.

27. J¸ vs© ÷|ºÁmh E¸øÍ°ß ö©õzu¨ ¦Ó¨£µ¨¦ 1540 ö\.«.2  Auß
E¯µ©õÚx Ai¨£UP Bµzøu¨ ÷£õÀ |õßS ©h[S GÛÀ, E¸øÍ°ß
E¯µzøuU PõsP.
The total surface area of a solid right circular cylinder is 1540 cm2.  If the height is four
times the radius of the base, then find the height of the cylinder.

28. J¸ ¦ÒÎ ÂÁµzvß «a]Ö ©v¨¦ 12. Auß Ãa_ 59 GÛÀ, A¨¦ÒÎ
ÂÁµzvß «¨ö£¸ ©v¨ø£U PõsP.
The smallest value of a collection of data is 12 and the range is 59.  Find the largest
value of the collection of data.

29. J¸ ^µõÚ |õn¯® Cµsk •øÓ _sh¨£kQÓx.

RÌUPõq® {Pa]PÐUPõÚ {PÌuPÂøÚU PõsP.

(i) C¸uø» QøhzuÀ (ii) J¸ §©mk® QøhzuÀ
In tossing a fair coin twice, find the probability of getting :

(i) Two heads (ii) Exactly one tail

30. (A) J¸ vs©U ÷PõÍzvß PÚ AÍÄ 
1

7241
7

P.ö\.«. GÛÀ, Auß BµzøuU

PõsP.  
 
 

22
  

7
π=  GßP.

AÀ»x

(B) x=a secθ+b tanθ ©ØÖ® y=a tanθ+b secθ GÛÀ, x2−y2=a2−b2 GÚ {ÖÄP.

(a) If the volume of a solid sphere is 
1

7241
7
 cu. cm, then find its radius.  

22
Take   

7

 
 
 

π=

OR

(b) If x=a secθ+b tanθ and y=a tanθ+b secθ, then prove that x2−y2=a2−b2.
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¤›Ä - III/SECTION - III

(©v¨ö£sPÒ : 45) / (Marks : 45)

SÔ¨¦ : (i)     ¤ß Á¸£øÁPÎÀ G÷uÝ® 9 ÂÚõUPÐUS Âøh¯ÎUPÄ®.  9x5=45

(ii) ÂÚõ Gs  45 &US Psi¨£õP Âøh¯ÎUPÄ®. •uÀ
14 ÂÚõUPÎ¼¸¢x 8 ÂÚõUPPøÍz ÷uºÄ ö\´¯Ä®.

Note : (i) Answer 9 questions.

(ii) Question number 45 is compulsory.  Select any 8 questions from the
14 questions.

31. A={a, b, c, d, e, f, g, x, y, z}, B={1, 2, c, d, e} ©ØÖ® C={d, e, f, g, 2, y} GßP.

A\(B ∪ C)=(A\B) ∩ (A\C) Gß£øu \›£õUPÄ®.
Let A={a, b, c, d, e, f, g, x, y, z}, B={1, 2, c, d, e} and C={d, e, f, g, 2, y}.

Verify A\(B ∪ C)=(A\B) ∩ (A\C).

32. A={6, 9, 15, 18, 21}; B={1, 2, 4, 5, 6}  ©ØÖ®  f : A → B Gß£x 
  3

( )  
3

x
f x
−

=  GÚ

Áøµ¯ÖUP¨£mi¸¨¤ß \õº¦ f &ø¯ :

(i) A®¦USÔ £h®

(ii) Á›ø\a ÷\õiPÎß Pn®

(iii) AmhÁøn

(iv) Áøµ£h® BQ¯ÁØÔß ‰»® SÔUPÄ®.

Let A={6, 9, 15, 18, 21}; B={1, 2, 4, 5, 6} and f : A → B be defined by 
  3

( )  
3

x
f x
−

= .

Represent f by :

(i) an arrow diagram

(ii) a set of ordered pairs

(iii) a table

(iv) a graph

33. 12−22+32−42+..... GßÓ öuõh›ß •uÀ 2n EÖ¨¦PÎß TkuÀ PõsP.
Find the sum of the first 2n terms of the series 12−22+32−42+.....

34. 7+77+777+.... GÝ® öuõh›ß •uÀ n EÖ¨¦PÎß TkuÀ PõsP.
Find the sum of first n terms of the series 7+77+777+....
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35. Aø\ÁØÓ }›À J¸ C¯¢vµ¨£hQß ÷ÁP® ©oUS 15 Q.«. GßP. A¨£hS
}÷µõmhzvß vø\°À 30 Q.«. yµ® ö\ßÖ, ¤ÓS Gvºz vø\°À v¸®¤
4 ©o 30 {ªh[PÎÀ «sk® ¦Ó¨£mh ChzvØS v¸®¤ Á¢uõÀ }›ß
÷ÁPzvøÚU PõsP.

The speed of a boat in still water is 15 km/hr.  It goes 30 km upstream and return
downstream to the original point in 4 hrs. 30 minutes.  Find the speed of the stream.

36. 16x4−24x3+(a−1)x2+(b+1)x+49 Gß£x J¸ •Ê ÁºUP® GÛÀ, a ©ØÖ® b

BQ¯ÁØÔß ©v¨¦PøÍU PõsP.

Find the values of a and b if 16x4−24x3+(a−1)x2+(b+1)x+49 is a perfect square.

37.
5 2

A  
7 3

 
 
 
=  ©ØÖ® 

2 1
B  

1 1

 
 
 

−

=
−

 GÛÀ, (AB)T=BTAT Gß£øu \›£õºUPÄ®.

If 
5 2

A  
7 3

 
 
 
=  and 

2 1
B  

1 1

 
 
 

−

=
−

 verify that (AB)T=BTAT.

38. (−4, −2), (−3, −5), (3, −2) ©ØÖ® (2, 3) BQ¯ ¦ÒÎPøÍ •øÚPÍõPU
öPõsh |õØPµzvß £µ¨ø£U PõsP.

Find the area of the quadrilateral formed by the points (−4, −2), (−3, −5), (3, −2)
and (2, 3).

39. ¤uõPµì ÷uØÓzøu GÊv {¹¤UPÄ®.

State and prove Pythagoras theorem.

40. J¸ Pmhhzvß ÷©À J¸ öPõiUP®£® {ØQÓx. uøµ°¾ÒÍ J¸
¦ÒÎ°¼¸¢x öPõiUP®£zvß Ea] ©ØÖ® Ai BQ¯ÁØÔß HØÓU
÷Põn[PÒ •øÓ÷¯ 608  ©ØÖ® 458 GßP. ÷©¾® öPõiU P®£zvß E¯µ®

10 « GÛÀ, Pmhhzvß E¯µzøuU PõsP. ( )3   1.732=

A flag post stands on the top of a building.  From a point on the ground, the angles of
elevation of the top and bottom of the flag post are 608 and 458 respectively.  If the

height of the flag post is 10 m, find the height of the building.  ( )3  1.732=
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41. J¸ ÷|ºÁmhU T®¤ß CøhUPshzvß C¸¦Ó•® Aø©¢u Ámh
ÂÎ®¦PÎß _ØÓÍÄPÒ •øÓ÷¯ 44 ö\.« ©ØÖ® 8.4 π ö\.« GßP. Auß
E¯µ® 14 ö\.« GÛÀ, AÆÂøhU Pshzvß PÚ AÍøÁU PõsP.

The perimeter of the ends of a frustum of a cone are 44 cm and 8.4 π cm.  If the depth
is 14 cm, then find its volume.

42. PÚa ö\ÆÁP ÁiÁ E÷»õPU Pmi°ß }Í®, AP»® ©ØÖ® E¯µ® •øÓ÷¯
44 ö\.«, 21 ö\.« ©ØÖ® 12 ö\.«. CÆÄ÷»õPU Pmi¯õÚx E¸UP¨£mk J¸
vs©U T®£õP ©õØÓ¨£kQÓx. T®¤ß E¯µ® 24 ö\.« GÛÀ, Auß
Ai¨£UPzvß Âmhzvß AÍÄ PõsP.

The length, breadth and height of a solid metallic cuboid are 44 cm, 21 cm and 12 cm
respectively.  It is melted and a solid cone is made out of it.  If the height of the cone is
24 cm, then find the diameter of its base.

43. 18, 20, 15, 12, 25 GßÓ ÂÁµ[PÐUS ©õÖ£õmkU öPÊøÁU PõsP.

Find the coefficient of variation of the following data.

18, 20, 15, 12, 25

44. J¸ £Pøh C¸•øÓ E¸mh¨£kQÓx. •u»õÁuõP E¸mh¨£k®÷£õx
J¸ Cµmøh¨£øh Gs QøhzuÀ AÀ»x AÆÂ¸ E¸mh¼À •P
GsPÎß TkuÀ 8 BP C¸zuÀ GÝ® {PÌa]°ß {PÌuPÂøÚU PõsP.

If a die is rolled twice, find the probability of getting an even number in the first time or
a total of 8.

45. (A) 3x4+6x3−12x2−24x ©ØÖ® 4x4+14x3+8x2−8x BQ¯ £À¾Ö¨¦U
÷PõøÁPÎß «.ö£õ.Á PõsP.

AÀ»x

(B) J¸ ÷|ºU÷Põk B¯ Aa_PøÍ  A ©ØÖ® B BQ¯ ¦ÒÎPÎÀ
öÁmkQßÓx. AB &ß |k¨¦ÒÎ  (3, 2) GÛÀ, AB &ß \©ß£õmøhU
PõsP.

(a) Find the GCD of the following polynomials 3x4+6x3−12x2−24x and
4x4+14x3+8x2−8x.

OR

(b) A straight line cuts the coordinate axes at A and B.  If the mid point of AB is (3, 2),
then find the equation of AB.
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¤›Ä - IV/SECTION - IV

(©v¨ö£sPÒ : 20) / (Marks : 20)

SÔ¨¦ : JÆöÁõ¸ ÂÚõÂ¾® EÒÍ Cµsk ©õØÖ ÂÚõUPÎ¼¸¢x J¸
ÂÚõøÁz ÷uº¢öukzx C¸ ÂÚõUPÐUS® Âøh¯ÎUPÄ®.

Note :  Answer both the questions choosing either of the alternative.

46. (A) 6 ö\.« Bµ•ÒÍ J¸ Ámh® Áøµ¢x Auß ø©¯zv¼¸¢x 10 ö\.«
öuõø»Â¾ÒÍ J¸ ¦ÒÎø¯U SÔzx, A¨¦ÒÎ°¼¸¢x
ÁmhzvØS öuõk÷PõkPÒ Áøµ¢x Auß }Í[PøÍ PnUQkP.

AÀ»x

(B) AB=6 ö\.«, ∠ABC=708, BC=5 ö\.« ©ØÖ® ∠ACD=308 BQ¯ AÍÄPÒ
öPõsh Ámh |õØPµ® ABCD ÁøµP.

(a) Draw the two tangents from a point which is 10 cm away from the centre of a
circle of radius 6 cm.  Also, measure the lengths of the tangents.

OR

(b) Construct a cyclic quadrilateral ABCD, given AB=6 cm, ∠ABC=708, BC=5 cm
and ∠ACD=308.

47. (A) Áøµ£h® ‰»® wºUP : 2x2+x−6=0.

AÀ»x

(B) xy=20, x, y > 0 Gß£uß Áøµ£h® ÁøµP. AuøÚ¨ £¯ß£kzv x=5

GÛÀ, y&ß  ©v¨ø£²®, y=10 GÛÀ, x&ß ©v¨ø£²® PõsP.

(a) Solve graphically 2x2+x−6=0.

OR

(b) Draw the graph of xy=20, x, y > 0.  Use the graph to find y when x=5, and to
find x when y=10.

- o 0 o -

2x10=20


